Divide by Negative Powers of Ten (C)

Find each quotient.

2,15:0,01 = 5,828:0,001 =
0,2395:0,01 = 5,735:0,001 =
2,44 :0,001 = 0,64 :0,001 =
6,4:0,001 = 8,603:0,1=
9,594 :0,001 = 598:0,001 =
4,64:0,1= 1,21:0,01 =
8,533:0,1 = 7,14:0,1 =
9,2051:0,01 = 6,0783:0,001 =
1,912:0,1 = 7,39:0,01 =
3,151:0,1 = 2,79:0,01 =
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Divide by Negative Powers of Ten (C) Answers

Find each quotient.

2,15:0,01 =215 5,828:0,001 = 5.828
0,2395:0,01 = 23,95 5,735:0,001 =5.735
2,44 :0,001 = 2.440 0,64 :0,001 = 640
6,4:0,001 =6.400 8,603:0,1 =86,03
9,594 :0,001 =9.594 5,98:0,001 =5.980
4,64:0,1=46,4 1,21:0,01 =121
8,533:0,1 =85,33 7,14:0,1=71,4
9,2051:0,01 =920,51 6,0783:0,001 =6.078,3
1,912:0,1=19,12 7,39:0,01 =739
3,151:0,1 =31,51 2,79:0,01 =279
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